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   Standard:	
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  score:	
   16	
  
Q	
   Grade	
  score	
   Annotation	
  

1	
   M6	
  

This	
  answer	
  
• is	
  a	
  good	
  M6	
  answer	
  rather	
  than	
  M5	
  because,	
  despite	
  some	
  errors	
  and	
  

omissions,	
  it	
  shows	
  that	
  relevant	
  information	
  has	
  been	
  selected	
  and	
  the	
  
answer	
  is	
  unambiguous	
  

• attempts	
  to	
  select	
  relevant	
  information,	
  but	
  is	
  in	
  error	
  on	
  the	
  point	
  of	
  failing	
  
the	
  bac,	
  although	
  the	
  conclusion	
  is	
  correct	
  

• explains	
  the	
  second	
  idiom	
  well.	
  
	
  

2	
   	
   	
   	
   	
   	
   M5	
  

This	
  answer	
   	
  
• is	
  M5	
  rather	
  than	
  M6	
  because	
  there	
  are	
  not	
  clear	
  links	
  between	
  the	
  question	
  

and	
  answer	
  
• “discreet	
  towards	
  the	
  press”	
  is	
  not	
  linked	
  to	
  the	
  information	
  selected	
  
• “le	
  noir à la mode”	
  is	
  not	
  understood	
  
• 2(c)(ii)	
  refers	
  to	
  the	
  dual	
  reasons	
  why	
  O.S.	
  is	
  pleased	
  to	
  have	
  been	
  in	
  the	
  film	
  

but	
  these	
  are	
  not	
  unambiguously	
  linked	
  to	
  supporting	
  evidence.	
  
	
  

3	
   M5	
  

This	
  answer	
  
• is	
  M5	
  rather	
  than	
  M6	
  because	
  sections	
  (a),	
  (b),	
  and	
  (c)	
  are	
  all	
  missing	
  key	
  

information	
  
• is	
  rescued	
  because	
  the	
  Governor-­‐General’s	
  challenge	
  is	
  correctly	
  identified	
  
• attempts	
  to	
  summarise	
  the	
  long	
  tradition	
  of	
  mutual	
  help,	
  but	
  the	
  evidence	
  is	
  

not	
  always	
  clearly	
  expressed.	
  
	
  

	
  
Overall	
  comment:	
  
This	
  candidate	
  demonstrates	
  a	
  sound	
  knowledge	
  of	
  the	
  vocabulary	
  and	
  structures	
  expected	
  
at	
  Level	
  3,	
  but	
  does	
  not	
  generally	
  make	
  correct	
  inferences	
  or	
  clearly	
  focus	
  on	
  making	
  links	
  
between	
  the	
  questions	
  and	
  his	
  /	
  her	
  answers.	
  
	
  
	
   	
  




